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Network Layer

Data Link Layer

Physical Layer

*

added

removed

re-arranged

modified

*

process number

Computer’s physical address

Both (a) and (b)

None of these

*

Minimum Transfer Unit

Minimum Transmission Unit

Maximum Transmission Unit

Maximum Transfer Unit

2. As the data packet moves from a lower layer to higher layer, the headers are

3. Port number is

4. MTU stands for
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*

packets

bits

message

all of these

*

Physical

Data Link

Network

Session

*

A repeater connects segments of a LAN

A repeater is a regenerator

A repeater can’t act as an amplifier

none of the above

*

5. The Physical layer is responsible for the transmission of _______ over the physical

medium.

6. At which layer of the OSI model does a switch exist?

7. Which one is not true for repeater?

8. The following are names of data units in each layer.  Which choice is not a correct
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Frame: data link

Packet: network

Segment: transport

Frame: network

*

(i) and (ii)

(ii) and (iii)

(i) and (iii)

(ii) and (iv)

*

Time exceeded

Redirection

Source Quench

Destination Reachable

9. What are the addresses used in a data link layer?      (i)	 Logical address	 	 (ii)

Hardware address	 	 (iii)	 Network address	 (iv)	 Physical address

10. Which of these is not an error reporting message in ICMP?
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